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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circlein
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question.Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
x>10 x<10 x<10 x>8 Ifx is no longer than lO,then-?n;chlOongﬁ +1

-‘gdlu_'_..il/fﬁy =2x ehlo Byl | 2
Which order pair satisfies the equation y = 2

Guen® | il | e AU -:‘_Jmﬁ,iunﬁugw&,w(tﬁé‘ﬂwo{w 3

o, 2,2 @, 1,2

Scalene Equilateral | Nomeofthese | [sosceles | A triangle having all sides different is called
NI t—/j;{' I - TP B UnCishbin It LU L1 ALEE | 4
Noneof | F= vf Different Same line | Three points are collinear , if on
Intersect i p J g SO
these each other lines

il S Ll we S @ wz;n:;w,’éw 5

Parallel Congruent | Concurrent Intersect | Medians o%@%re

&

| et & | B Ju S ng@ o LuguF Laks”| 6
s

None of these | Concurrent | Congruent Parallel ectors of the angles of a triangle are

e P e b k

N
2 4 3 )
One and only one line can be drawn through __ points
> E:'(;

P11 Ju B nl e I e L |8

None of o
these Congruent Concurrent | Ina parallelogram opposite sides are
» éL ef Je el e b L L sl | 9
Two Five Three ot Congruent friangles can be made by joining the mid

points of the sides of a triangle

. 1 0 10
Singular »t | Scalar K1 Zero $ | Unit Jlws ‘:0 lil is called a matrix _é;b(glifh,)b':‘/[ ] A4

01
—9-3i —94+3 9-3i 04 3; The conjugate of 9+ 3i is ~§-¢<(flf{9+3i A1
mlog3 log(3m) 3logm (logm)’ logm® can be written as -q'_-l:'lgw[ logm’® | .12
22 2_ 2
X=y xt = .
xey | oxmy | G | ey | T seaulo gaes oo |
@x—3y), | @x+3y), | @x—37 (2x+3y), -u}d/_é_mlz’:, 8x> +27y° | .14

(4x? + 6xy? +9y?) | (4x? —6xy +9y?) (4x2 — gyZ) (4x2 +9y2) , — 8x3 & 27y3 -

e J 1ok a'-blala™ b’ | 15
L.C.Mofa’+b*and a’-b’ is
=S 923 _0924-57000 (4 )

6

a-b a-b a’-b a’+b’
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Answer briefly aﬂy Six parts from the fdllowlngs.

kg (28 L

D1~y -
ex2=12 Sy febn B Limge §. ;‘A}:a; 24U

5 3 1 0 i
If A= and B = .‘thenﬁndA—B. _ér)}""A-B;n'B= o sl A= * 8 V0 @
4 2 0 1] - al - 0 1 4 2
Evaluate %’ l = -ér‘:"";} G
. ~4 -4
_ RRE 8\ .
Simplify | — 2. st (i)
B (125) [125] =
Find the value of x . logg, 8 _:% log,, 8 :% R 1 SR ()
Calculate. log,3x log, 8 log2 3% log3 8 _é()’”c:ﬁ W
Simplify [ﬁ+_)[ J > __J Y (vi)
f
2
Rationalize the denominator 2 L P, (vii)
NG 0@0 T eI
Factorize 8x° —125 @ % =125 -éd/; (viii)
?' Factorize 3x* —75)? . %5 3x? —75)7 _édf." (ix) k
Answer briefly any Six parts from the followings@@Z—lZ Lo f ez Lz e S e iditn 34Uy :
Find the H.C.F by factorization ¥’ +5x+6 ; 0 x*+5x+6 , x*-4x-12 -d_/r}”fyhbdf.:.z{/& @
& ‘
-3 - -3 x-
. Solve the given equation z 2 % 3 2 =-1 -U’/Jp foul/ufd: (ii)
Cs Dcfine Absolute value? "g[/.y}".d/:»{:"d-ﬁ’ (iii)
Find the value of “m” and “c” by expressing them in A LS b Sey=mx+e rq/r;""ogf‘c"»l"m" (v
the form of y=mx+c 3x+7y=-4 3x+7y=-4
Draw the graph of x = -3 ) -uf,t:..)'lf({ x=-3 &
Find the mid point between two points A(7,-2) B(-3, 5) A(7,-2)B(-3,5) S B0 6360 (vi)
Define Isosceles triangle? ?q/_y/"d’wy?u:u,u (vii)
State S.A.S postulate? S sk Foinf (i)
P & N
IfLMNP is parallelogram & L LILMNPS (%)
find the value of “m” and “n’”. 4ty . /e 277 (s J 0l “m”
s¢
L gm "4’) M
& )// 922 - 0924 - 69000 (P.T.0)
/
° T b
-1




St~ O

Answer briefly any Six parts from the followings. g=12  f S felzf Limge e dditn 4 Ay
Define Right bisector of a Line Segment. ‘u_‘/._.é_l/"’.JJ/L‘dJ/ LS B )]
Verify that 10cm , 6cm and 8cm are the sides of Triangle. p -wuwu’ ot £ e di8emusi6em , 10em S Set G
In Isosceles Triangle APQR Find x and y |oc™, L -u_/(:l”tfg ury/:!x U~PQR :Af‘*u-‘?w&l;- (i)

i @ éem Y R
' w &
Find the value of X. % Hem bem L / (:1” v J x  Gv)
3cm 3em
Verify sides are right angled Triangle -uguggJJCuhl£~w:,,tﬂs;?t§'f¢_fQJ ()
a=lcm b=1lcm c=\/_2_cm a=1lcm b=1lcm c=\/§cm
Find the area of square whose side is 10 cm. gcm -¢-10cm JUJ(‘}J..{I Loy le 388, Gi)
Find the area of a Parallelogram. Hem - ot pl" SKOWoLi St (vii)
Define Incentre. @ - /. 7y J S /duM (viii)
Define Circumcentre of Triangle. (ﬁ - S/ Y H/ P €))

: Part 1
~ Note: Attempt any Three Questions.Q.9 is compulsory  ( 8&3-3}
5.a.  Solve the linear equations by Cramer’s Rule. 3x —( ?
5

" PHe (o qg+r ;
b.  Simplify (_4_] [_7} +5(a’-a")’"
a a

6.a. Usc log table to find the value of

(438)/0.056

(388"

b. If(Sx + ——l—) = 6, then find the
Sx §

7.a. For what value of m is the Polynomial

e of (125x3 + L 3] -’érJl’”&EJ(IZSf +
125x 125

/ﬂQ/Jl/.J/{J’uUiLuUVJc_LEI o

/S e PLASS D

@%57 a Y PRI o
, (?] [7J +5(a”-a')”’,a¢0-u_//"

-ér)”:»:’::._ug!duq fzzbﬂj

1x ))n(5x+—-—] 6.1

JJ/.?(x+24_}_-J:.>fJJmZ_:rP

Cp(x)= 4x® —7x* +6x—3m exactly divisible by x +2? -f@/f?l/gug/p(x) =4x> - 7x* +6x—3m
b.  Find the value of £and m for which the following expression ﬁwd/g}[)&f__jg/ﬂc.u)' é(}”.:éufumﬁmml

will become Perfect Square. x*+4x° +16x* +Ix+m

8.a. Solveforx |x+2|-3=5-{x+2|

b. Construct triangle ABC and draw altitude of its sides

P dx +16x3 +ix+m |

|x+2]-3=5-{x+2|-ZEJS L Lx

_zr(bw/l)J)fLLWlLJl/;lz._b A ABCaL»

mAB =4.6cm mBC =5cm, mCA =5.1cm
9. Prove that any point inside an angle, equidistant from its d:l/c.u;/l,ﬁu’ 1 de:f o L;JMLA.,:UU’( 7 l’a...zt"
arms, is on the bisector of it —weeeOR—weem N - -c.wdu/.yuéuum Linsd st el
Prove that triangles on the same base and of same (i.e.equal) /l/f/w;lﬁululurdb/wb Lf‘uﬁ?d‘l/[_fléuf'

altitude are equal in area.

022 - 0924 - 69000
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’ Part I d;l 2
Answerbriefly any Six parts from the followings. ~ 6x2=12 1./ Feliz & Liztge e tditn 2401y
If C=[3 -3 6] then find % c? - -q/plv% Cinc=[3-36]1 @
Simplify it /144 p207 430 V144 p2g0m s L3 G
-4 . -4
8 )3
Simplify it | — KN Gi)
tmplify (125) (125) &/ G
. Expressitas a Single logarithm ; ,ﬂu:f&‘"",g’;w, Gv)
logx - 2logx +3log(x + [) - log(x* - 1) logx—2logx + 3log(x +1) - log(x* - 1)
Find the value of x -logx = 0.0044 0.0044 -u/(‘:l“”.:—gg{x (%)
Factorize it 8x° — 271 ; U7 (vid) Sim ,fy. 4x + 4 S )
- ; [
State Remainder Theorem. _J‘Jquth.l? Gix) @actomze it dxt- (2y* - 22 )2 4}_}1‘; (viii)

Answer briefly any Six parts from the followings.
Find the H.C.F by factorization x° + 5x+6 , x> -4

‘! 3 LI f 2z P Lizge $e tditn 340
x> +5x+6, x° —4x—12 -’jé.:rﬁ‘d}gp@fﬁ’l;lp 6)

Solve forx [ 2x+ 5| =11 - , [2x+5|=11-Z£ L L x  Gi)
Solve the equation. +/3x +4 =2 Bx+4=2 ES S e Gid)
What is meant by ordered pair. Give an example. ' _Z:)Jl‘/?‘a.:l ya's iz (iv)
Plot on the graph paper P(-3 , 2). - 46P(=3, 2) VAN G)
Find the distance between the pair of points A(9,2) , B(7,2) AO,2) B(7,2) b b n L sin Lo ()
Find the mid point between pair of points. (5, ~12) , (=6, 8) (5,-12) , (-6,8) -;’{r#ﬁ&yaw,}z&,s} - (vi)
Describe S:S.S postulate. it -é{ Uherr oSS i)
#
g
Find the unknown n®,m” in the given figure. . ‘ -g{(k’qjtﬁrk’tc;u.‘ffd: (ix)
’ 75
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If A LMO and A LNO are congruent triangles

then find value of x and m

s ‘Aﬁ;wer briefly any Six parts from the followings. 6xlz—=ﬁ o .q’/( £ j’ -.:«I,LP:/"'? Ll'/’.'iagc—éf Y-8 ,4/."; Jir

und® Fie ALNO AALMO S G
-éfﬁ”ﬂ{fm slx3
N R

12cm, 13cm and Scm are length of sides a triangle o n chQHJCWlﬁb@{lScm »13em ,12em G

verify and give reason. -é..l;.,;ml"é.-zb"‘

Define proportion. Syt Gl

State the converse of Pythagoras theorm. ~ . -é...é’ /7 J v o Lo b . Gv)

Verify these are length of sides  a right angled triangle. -wugg«f&u&:&,;lﬂi}f’ﬁ',éat" (%)

6cm, 8cm, 10cm ' . 6cm, 8cm, 10cm

Define altitude of a parallelogram. , cm lo Cﬁé...y/"'&/ Lo (v

Find the area of figure.g/ oy gem -ér}” K Gid
] 1

Define centroid of a triangle. -é—éj/"’p(b"f/ﬁw (viii)

Constructa triangle ABC if mAB =5cm , mBC =4cm and ma‘; =6cm A &b ABC&L  (ix)

8.a.

Part

I (9 =memmaer

Note: Attempt any Three Questions.Q.9 is compulsory ~ (8x3=24) < 92\ ;_f ezl eyl e dfied
4x+2y=8 - . . g
Solve the system of equations by using Crammer’s Rule. d Q{B SO Lude LA uin-de @5

. . aZl a2m a2n
Simplify ae+m amtn an+l

Use log table to find the value of ¥/2.709 x {1.239

If x+ y=06 and xy =9, then find the value

Factorize 1+ 2ab—a® —b?

“« »

Find the value of “ £ ” and “m” fo

au aZm a2n .

-z o
) ) [al’-bm) (amwv) (aml,’] 0 /d )
$2.700x 1239 -t edcsanldliel K9 (6
B -Efi:r’l”-:agu(f+y3?nxy=9uix+y=6ff ()

1+2ab—a® -0 y/67 @
ich the following _.V.J‘i,.?u?c.uz J / r”"" .:»43' J UsA i “m” sl “” )

expression will become a perfect square. x4 16X +tx+m. bl /J;

x*+4x° +16x* + Ix+m

Solve the equation x + ]g = Z(x — %) ~6 x+ % = Z(x — %) —6x M/(P;gd"(.:,uu (a)8
Construct the A ABC. draw the bisectors of angles u_'i‘r JULU{';ULUU:M_{ ABC&L:  (b)
and verify their concurrency. mAB=4.5cm mBC =3.1cm mCA=52cm -Q/J_JJLMH{"LUUJ!

Prove that any point on the bisector of an angle is equidistant ‘ cufu'l,ﬁu | J:il.{l ﬁ/?-..iﬂté_:«;ljxfr S U /. el -9

from its arms, —===== OR —auee ——— L ——— ~g by bl sl

Prove that Triangles on the same base and of the same Cliv'/lf.ululunb; l:/,:wﬁ'(j".{!ﬁufu&/ <R J St

(i.e, equal) altitudes are equal in area. -J UN AL P55 2

924 - 0924 - 57000
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PAPER CODE

-‘éﬁ" 3/ J /.J" dul‘.;l.‘,.gu‘“? A 4l PN
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5197

/’b,’ﬂa“f&l&&._..l;?uug:._u.fuu'uéé,.té:.lrﬁdlyﬁ/, b’dl,’?-w‘{é,_)DulC-B
' ‘ PAPER CODEJ).*’/'.g/',JIleJl)'luiuidmlﬂ_b’n{ﬂ’wymuﬂt uﬁazﬁtfi.//;/c-ﬂé_/{fu:/'lmli

Notei~ You have four choices for each objective type question as A, B, C -“'—-c)ydw‘Kj).?.:kj"kJlﬁlu‘ﬂ-—dtﬂlrj‘\a}wdj‘)uj;r‘ww:.d}‘d‘y .J/
.and D. The choiee, which you think, is correct; fill that circle in front of that que . ]

more circles will resylt in zera mark in that question. Write PAPER CODE, which is printed on this quostion paper,
und fi1] bubbles sccordingly, otherwise the student will be respongible

15 A

E20:293

s (' =212)0923_
2019-21102022-24 /% I&lfbE

@ Al
AMZA S L iy frisd

stion number. Use marker or pen to fill the circles. Cutting or filling two or

on the both sides of the Answer Sheet
for the situstion. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS X
a=log,¥ | X=logn | x=log,a | n=logen Ifa* =n then v a*=n/ | .1
—2b —2u 2u 2h 1 ; " 7
ai-13 ai-p? PTETY PEETS] oo avp 8 equalto: gt == | 2
-4 b’ 4b° 16 b* 16 b .?évfqu'kfbf:kf'dvéél’f.d/di’f‘)az*lhb 3
What will be udded to complete the square of 9a’~ 1 2ab? |
2 1 p
eI E[0 1[ e |
3-by~1|1-by—3|2-by—3|3—-by—2 3 2
Order of transpose ?L{é)@} is
O 2
/u‘-%f_{! u&g(}/u{! ;ﬁ&l’k{l :ﬁ(‘;gﬁ o < - /&?ﬁ 5
A complex number A negative integer | A rational number A posilive integer EVer mber is
) ’ é\/
(/(O NG al . o o
Four/g ThreegZ Twouss Oned® </> ‘ LESoB e s | 6
A A How many lines can be drawn through two points.
& Se , \\a If'a’ -gbxubgd/ S0 a é’(d/.{i 7
& is the side of a square then its area is....square units
1limle . gt G 4 AU | If two S b JunS Pl bmlalt LS| 8
Acuteangled | Right angled Equilateral Isosceles medinns of a triangle are congruent then the triangle will be
= 16K o' b’ 2’ b 9
(@ -ab+b) | (a®—b? a+b woh T/ _
( ) ( ) ( ) H.C.F, of a’~b” and a’~b’ is:
In2fhe10addx S | 10
x>10 | x<10 | x <10 | x=>8 ‘ S—
If x is no larger than 10, then
e siyiny=2x+1.x=2/ .11
5 4 3 2 )
Ify=2x+1,x = 2then y is:
T3 i .
(-1,~1) 0.0 (1,0 % a, e B se(2,2)5(0,0050 | 12
: 5 Mid point of'the points (2,2) and (0,0) is
o o 5 ‘ ;—;?;3 5 -;.dt,JJb‘*lyUsg’.Ldi!W(l—l) 13
= ¥ The symbol used for (1-1) correspondance is:
Seva | B ERE e Vi BV AP ATC) B
None ofthese | Non.concument | Concurrent | Congruent | Medians of a triangle are:
BA B LA S it Lyl ey’ | s
Non. concurrent | Concurrent Collinear parallel The bisectors of the angles of a triangle are:

933 - 0923-40000 (4)
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Part

Answer briefly any Six parts from the followings.
Detine matrix.
Find the product. [1 2] [_4J
o . 3 5
Give a rational number between " and z'
Simplify. (2x°y ") (—~8x 3y?)
If log 2 =0.3010, log 3 = 0.4771,]03 5 =0.6990, then
find log 24

x

Find the value of x. [0g4,8 = 2

x3y-2z

Evaluate. for x=3, y=-1,z=-2

XZ

3
Express in the simplest form. " V128
Factorize 128am® — 242an’
Answer briefly any Six parts from the followings.
Find H.C.F by fuctorization x2+5x+6 , x2~4x- 12
x-3 x-2

Solve the equation —— —
3 2

-1

Defing Ahsplute valug?

Write the given equation in the formof y = my + ¢ x -@@

Define Abcissu and ordinate?
Find mid-point between two points. AC0,0 5).
Define isosceles triangle?

State S.A.S postulate?

P : oN
IFLMNP is parsliclogram, am +0
14 ‘

Find value of m and u. 8m—dn M

-~

427"

IS60-1 23

J;l

g

934 - 0923 - 40000 (P.T.0O)

6x2=12 S i linge e tditn 240y

ZEw O

2] ]y
,:f.,t;u.-d*c_gwu;gmg )

(2x5y™*) (-8x3y) sl B (1)

log $ = 0.6990log 3 = 0.4771:log 2= 030107 (v)

2 log 24 I

loges8 = g_a'{()"c,&fx (vi)

z=-2ay= 1= 650 ol d (i
VI8 f Py i)

128am’® —242an* .1 /§F  (ix)

6x2=12 S sf=liz g dS e LLsbn 34y

X*+5x+6 @ 412 gL g g s @
O%Q?%}% - x;2 ==l /S Sl G
%5@ ‘AP fed D
X2y =2 u:‘”utd"gfy:mwcf@uudfd: (iv)

SISy 1517 SATR N )

A0,0), BO~5)0 S 501 sKbBs  (vi)

S e AU (viD)

e (SAS) S (viid)

P_y8 _ _n
ol LU LLMNES ()
e 0L e fnaim )




5.a.

—(2)-

«nswer briefly any Six parts from the followings. 6x2=12 .Q‘/Qf STy £l7.lic.gf ettt ALy
dne right bisector of a line. S,C( D - 23 -;,:l/gc..wtd)/éb.f" @
Justify that 3cm, 4cm and Scm are the Lengths of triangle. Y. BN Cu«"léwu’%cmul 4em, 3emS /| Jds i)
Define Similar triangles. el /[ e 2 g lada (iv) Define propottion. <l ffe ot il
10cm P 10cm
Find the value of x.  °*" LAl W)
Find the area of given figure, A\ A.\ 7 o JHP J (v
T | ] 16 em
Verify that the triangle having the following measures of ,:lﬂl:}F&,fg[/f&'ﬂwdjauugygfawlé:.w (vil)
sides are right-angled. @ =9¢m,b=12c¢m, ¢c=15¢cm =9cm, b=12cm, c=15cm-<
Define Centroid. ﬁ e e A (viii)
Construct a AABC, in which mAB =3cm , mAC =32cm m@- 45° ufc,ﬂu:/‘(r.AABC (ix)
Part II Q -2

Note: Attempt any Three Questions.Q.9 is compulsory  (8x3=

Solve the equations with the help of Cramer’s rule. 8 -Q/ Sesafude L AL U
Viadil g+r Py qr
. dp aq "\ pek @ aP aq r —r o Js
Simplify (;—;J . (-aj') +35(a” a")’ X\ O (? 7 +5(a’ a") " &
Using log table Find the value of 32.709 x Y1.239 ,grﬁ’dg:;&d:yéfizfﬂ
1¥3x + 4y = 11 undxy = 12,then find of 27x% + 64y°. ol adf27x3 + 64y3 s xy = 120 3x + 4y = 11 /i
Factorize by factor theorem x3 + x% — 10x + 8. ¥+ x?-10x+ 8-gj_/dfqudﬁ’J’/
Find the H.C.F by divisionmethod ~ 2x5 — 4x% — 6x, x5 + x* — 3x3 — 32 q/,»}vr:“’-,gu,f”uu
. 2 1 b
Solve the Equation W4 a5 x#* + 1 .4/_//(‘}"3.{()’{:4!5(/

Contruct a AABC draw perpendicular bisectors of its sides and verify Q_‘é‘/_iﬂtd)/ L & el st Sk ABC

that they are concurrent, wz_nbﬁﬁ,.ﬂj_/&.ﬁul
mAB = 4em , mBC =4.8cm , mAC =3.6¢cm

Urke e U L BB gt g st ™ et

Prove that “Any point on the bisector of an angle is

cquidistant from its arms”  <eeareOR e ol B FR ]
Prove that “Parallelograms on equal bases and having the Jétcmmd:wduwmwu5 lg sl /.J/,"‘,{f il
same (or equal) altitudes are equal in ares”. St Ji

934 - 0923 - 40000

9 Ay S el 2L ctirf e (e

@S5

(b)

(a)6
®

(a)7
®)

(a)8
)
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PAPER CODE

-’cf.-':b";/dol ﬁ;dul'dj',“‘jf; u.f,g/ﬂJlrJl:JJb (ﬁ’ =

l/u v’/
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201921 to 2022-24

1s A

4
1 E-JJ&\\

w2003 (W) Lo
-l e DaICBASME L g L i pi,

v

eI L1 E St PAPER CODE - 4 o N1 M I L GHY 2 st sde I 20k 3 S § T3 S0 S A

S&n

Note~ You huve four choices for sach objective type qugliun s A
frout ol thit guestion aumber. Use marker ar pen to 1 the cirelgs.
question. Write PAPER CODE, which {s printed on this question’s

- S it B g * i iSO s § g
B

,C.and 2. "The choice, which you think, is cotreet; §ill that cirele in
#g or filling two or more gireles will result in zero mark in that J

atson the both sides of the Answar Sheet and i1l bubbles uccordingly,

otherwise the student will be responsible for the situation. Use ofinlergmover or white correcting fluid is not allowed

(D) (€) (B) (A) ; QUESTIONS Q-1
» (a+b) Sunugeibmoida o AdugadU§ S s | )
(axb)ULKIE 2(a -+ b) 7lits Um 4 b g . -
(a%b) squarc units | UNLES Ugs,‘ - v o ) :Ifthe Iength and width ofa lé-t')’i' "/J(\)&b’
: ’eé'ccmngle are a units and b units lhsn area of a rectangle is: .
quu,i,u c,:f)ll i u‘"LJlu’ L3 £ _,q_Jva( u.v(J u‘(,u:oméfw.{l 2
L f i/ Right I _ i avine two sides coneruent is called: '
g tsoseeles Jeal; A triangle having two sides congruent is called:
Equilateral Angled 50 )
e slsxd 5 l; 6':0/‘1 3
-9 6 -6 9 X
2 6
If ‘ |=0, then x equals to:
3 _xl
- - 23F¢2ab(i + %) A | 4
—2abi 2abi -2ab 2ab -
Real part of 2ab (i + i%) is:
I lod. b l l ”gﬂlghiu‘-‘ flogh ax log.b | .3
0gpt 0 (o] 7] 0gat
Br e g # log, ax log: b ca&?@i‘wn an!
a*-bh? . at—h?
: 5 @ : .6
(a—=b) | (a+b) | (a+b)® | (a—b)* | S5 Lq@\‘f- 44 0
A\ O
e+2),(e+3) | (e-2)(x~3) | e+ (v 1) | e+ 1),(x-6) ﬂ‘?@é@mz*”*ﬁ wret e Pen L Xsxe6 | g
) 7 i bk 30xyz o 45xy, 15x% |
15x%yz 15xyz 90xyz 90x2yz S T e u: vz 4 M .
s S L.CM. of 15x%, 45xy and 30xyz is:
. g p
Y Ry gﬁ/{ celperbfiffevt > <2y SESudS | 9
.«:L_ ‘-J. =il .;‘.Z...-;{,'/:J g o involvine ¢ £ Ju
. mc_.a.l Inequality ey T Equation A statement involving any o -Vl
quation Ideiti the symbols< « > , < or 2 is called:
\/ . 4 .
010 €. @jz 4 2 Mid point of -« L 62, -2)51(-2,2)56 | .10
b ' ' e the points (2,-2) and (-2,2) is:
e LG LY (-3,-3) &5 1
1 [ Il A Point (-3,-3) lies in quadrant: ’
o S liie S e dndeid £ ekl |12
perpendicular | Congruent Similgr Paralle! L is used for :
H et J;'L-JJ’I ol Y g,{!L/ J‘./u.._(,_‘l})ﬁ&w‘wdjl? 13
Nowe of these | Bisectat Trisect Higes( The diagonal of a parallelogram each other
right angle
i — o bbbl b F Ul ABBA | 14
AB AB AB AB Line segment AB is written symbolically as.
e | sBf AL | BBBAGE LB AL 16 15
None of these Three non Three collinear | Two points points determine a plane.
collinesr points points

Loy
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Part I qu 2-23 Jsl e
Answer briefly any Six parts from the followings, 6x2=12 .q/ 4)’ h‘-'v“-"/” CIZI{LJI c._ufd.lbu -2/ Jir
Define Singular and Non~-Singular matrix. ,:-;’;._yj".d‘._;’li'ut/!uml' 6]
_ 1 =2 t t t__ L 0 7 . 1 -2 z
irA=| o anas= [ ,thcn find 24 =38 ge2nt ~ 385mme O, TS o P
Simplify /25x10ny8mzL 3% (3, simplify (x3)% = x3%, x % 0. A (i)
Evaluate. log, —— log = i
valuate. log, 28 2 128 2.4—:(’1"‘&1‘.' (v)
Iflog 2 = 0.3010,log 3 = 04771, log 5 =0.6990, log =0699 =0.4771.log 2 = 030101 (vi)
then find the value of log ?O @ é(}“....a’gf]og 307,
Rationalize the denominator. \/g_ﬁ-c_.b.ul’l.f(,/ (viii) .S; v125 & 4 (vii)
Factorize. 2y% + 5y — 3 @ 2y% + 5y — 3@6)’ (ix)
Answer bricfly any Six parts from the followings. %12 -g[f(f ..W/‘-" &l!l{;dfcgﬁgbbu -3/Jlr
Find the square root using Factorization? @@~ —Xy + 5-6-)/ Sq/r}"‘d/u,qdj.gq @)
Solve theequationV3x + 4 = 2 V3x+4 = 2-\/__/;)’/.:'51/ (ii)
Define Non-strict inequalitics? Sy i ol (Gi)
Define Collinear points. &(/.yfdlm Audss (iv)
Find value of Fat C° =10° when F=§C+32. F:S2 CH327 wC=10° Ly/r=dfF ()
Find the distance between two points. A(2,-6) , B(3.-6) A(2-6), 8(3,-6),g)__‘/r‘:l”~b6uyu£.1:ls;£’¢"_: (vi)
Define Equilateral triangle? ?q/.éi/‘."g,(:.liélwuld;l/ (vii)
Whatis meant by SAA = S.A.A? D c s /e S.AAZ S A A Lviid)
(5m + 10)° 11x°
Inthe given figure ABCD is g LMUIJ}’P.{IABCDJ‘PJ{‘}: (ix)
(V] - -
parallelogram, find the value of x and m. A 35 _L[/(}V:,{ Jm,,,lxi-g_
B
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Answer briefly any Six parts from the followings.

A

Define Bisection of an angle.
I 3em and 4ein are lengths of two sides of'a right angle triangle,
then what should be the third length of the triangle.

- al™
Define congruent triangles. s 2 e ¥ Jf 17 (iv)

Find the value of x.

Find the area of given figure, i 4cm

Verify that the triangle having the following measures of

8cm

sides are right-angled. @=16¢m, b=30c¢m, c=34cm.

6x2=12

aD-a-23

Scm

=2 )

-;..ﬂ/kfc.-.i‘té:,;l}
w;umcmmscmuggJJC,ubluéiw,,tﬂf;'fU'uj i
-J i JL"J CL‘ e sl
Define Proportion. - sl e A"

13 em
_u__’/r}”‘.:-q’:d/ P

_qf(}"‘_}‘;ﬂ)édrd;

i 4 cm

NG 2l ST B PS5 WA SE o & e
a=16cm, b=30cm, C=34cm-c

L2 ez Lizige 3 e st 420

@
(i)

Gii)

D)

(vi)

(vii)

(viii)
Gix)

(a)s

(b)

(a)6
(b)

(a)7
(b)

(a)8
()

Define incentre. _q__)l/g;,f/(}ujl
Constructa AABC in which mAB =3 2cm mBC =4, 2cm mCA @?.‘Qem u-‘.'u)'é;,.l'fAABC
Part I 93 -
Note: Attempt any Three Questions.Q.9 is compulsory (8x3= %}JUQ/ Jlf-g{/ 4‘}’ ezl ety cdf'..‘d
5.a.  Solvethe equations with the help ofCramer’s rule 2x + Y= Sy =1 u_’/g)’c_uu(u:’b L/Sffu,‘bl/
G a+b b bic g a+h » \bﬂ‘ PG
X X
b. Show that — X | — X xu @ x— [ x X =] f'&;—“ft"
X x* x @ x° ) x”
0.678x9.01
6.a. Usc logarithm table to find the value of s P ~.£ P ed c__u.g,(daw,/d gy
0.0234

b Ifm+n+p=10andmn + =27 then mn+np+mp =27sm+n+p=10/
find the valuc of m? + n? + p? e e ddm? + n? 4 pin

7.a. Factorize by factor theorem JL‘J -2x*-x +2 ; x'-2x’-x+2 _Zf—:df’cub(df.l’/

+x-6 _ x%—4 “\ x%+x-6 x?

b. Simplify to the lowest form ;—_';‘:g ) B ;;:}_—6 x‘ o d/ﬂ’u’yujm/
1 1 .

8.a. Solve the inequality 4 - ;x >—-74 e 4 - 7 X = -7+ -x -g{/‘u’f:‘l:l//
b, Constructa AABC. Draw its angle biscctors and verity that they are concurrent. ku( u‘/uM’uuf/./tﬁ.ugméululu’bA/\BC

mARB =4, 6cm, mBC =Scmand mCA =5, lcin
9. Prove that “Any point inside’ an anglc:cq,uldlstant from its cu»/‘l‘,‘ﬁul.ﬁf-..:lquIé_u,cléL_,;uu’r"Q/:f.t‘

arms, is on the biscctor of'it.
_____ CR—ee

Prove that “Parallelograms on the same base and between the

. . . 2
same parallel lines (or of the same altitude) are equal in area.”

“q;.t‘n{‘j-‘;),__ i g3l 5ins g st Lol (§sl

R —
15068 2L WU s oG § 1 " Sl
UnaalBaLDUnlisgn s $u Lo
“Sumas st S
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" PAPER CODE 5191 s A8 w0 (P Sl
‘NNOW:-/’ u’L/Mmub‘ b E e S u,m.f__..,_m::v.,‘jw,«:wh.v .r~a,~_,m/::< :Br/\ a;.jm»c. Jiv s
/x___/‘)- A (V..___u’iL. [O9) PAPERCODE*YL" o ',{lrl_j' 'l/lu-’u..__q_}bvl,...gr.u‘z'.bl. l»’u' A_u...._ai‘ .,‘:,.f_f_/ .LIS/(. // 3’, ‘a/uutz
% ,- _..-;_,*"Jw’ K.n' ,W'L,.i-/\..fl \)'f/f \_.‘w S \/I’Ug/'.._n'u;f” u/"
Note:= You have tour chotees for each objective type guestion as A, B, C and D. The choice, which you think, s correct; il that cirele in
front of that question number. Use marker or pen to §ill the circles. Custing or filling two or more cue c.v viilvesult in zere mark in that

question. Write PAPER CODE, whickh is printed on this guestion paper, on the both sides of the Answer Shuet and fill bubbles accordingly,
otherwise the student will be responsible for the situation. Use ol ink remover or white correcting szui;f snorallowed

WY S iﬁ}du -:.:':U):"J/r ':"/:";(.,’JJC;L;J;J;}J:/ iy Jh C./'} (Kw”l.?) 0922

Lo T ) (8} (Ad i QUESTIONS S Q-1
; v
9 -9 ; 18 -8 |
: g ’
1 /"_:_ ~\ a .‘” B >
; J,'!' {/) 4 (4 rj\: ¥ (;\/ ! } h Z
i -
.‘ 3
10 ! 0 -1 _
i The Jogarithmiof any number to itself as base is
" 1 P
. = @___} x=3+8 1 ,
—
£ §+43 | 8-v3 | 3-8 S\ |
Ll £ x=3+ & &@D— -
n PICVSEN L Ll J6 91200 |

aﬁded to complete the square of 9a°~ 12ab'7

b’ b 4b’ 16 b f"
by, w@

, Plibesisst a'= b s ait b2
P v a- atb
a-b a’—b’ a’+ b? a*- b ™ ? 2 6
(PE.CM. ofa’+b and a™b" is
2 L;,’..: Mo rgf _wi.‘ﬁd"l_;_ Lu;’)lr‘r;j(!h:-{."jw 7
Two Three Four ‘e Ail the absolute value equations have __ solutions.
~N .
T PN SN SR r P B N e stslx, ¥ in(x,0) = (0, _v)/’l 8
a,n (0,0) (1 0,0 " -
.0 =00, ¥, then &, 1) i5n.
: ; SR PP C ) P I e I
0,3 (-3,-3) (3,3 ©,0 kK03 00003, 000 | 9
Mid point ofthe points (-3, 0) and (3,0)is i
, e iy A et st o
4 1 2 3 - .
Number ofright amalc.s matangie canbe
i B il b ' RV.ZAC N NS
Congurent | Nonconcurret | Concurrent Collinear | Medians ofa triungle are _ N
—— £z v sty et 1 e | 12
Similar Since Theretore tspependiculiro | g ol L means.
&y FJ‘: o T” B Sl e 13
. our _ . : 7
5 Five Three we Proportion is equality of ____ ratios,

(_’;J‘J,,b P F J/"’Tuwb Ef .:._t‘ﬁ/l/ﬁ. LC@/hslm JUJ'”’ PJIGAVU 14

Area of aparallelogram is equaitothe  ofbase

5 Dy S o g Y
Quotient Product Subtraction addition and height (altitude)
JL;UU’ULJI 4_30 ,.nbbfl/d./&b L-.Jr‘JfUIUJU 15
0 0 o ) '
140 150 120 110 One angle on the basc of an isosceles e rLf/l,w

{ triangle is 30°. What is measure of its vertical angle.

.é////‘/ 917 -0922-70000 ( 1)
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find the value of m, n.

8m—4n M

£247" 918 - 0922 - 70000 (PTO)
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Part I i > .S‘.O-(r/.
Answer briefly any Six parts from the followings. Hx2=12 f _j’ R R 7 LA p’c:,(j)’.::..u" L,}' s J,.-."'Ulf
5 ~i0] L 15 —-m; P €)
Check Matrix is singuiar or non singular? D= ! . % l o= . 4 T4 TR
L=2 4] L7 .
i §] R ) s 7] T 7] .
; c 6 7! v o il —Z A PR )
“'/.f:—,gt 278: /! rAf-:{ﬁ ,’B=g ‘,‘I/I !
13 4] -3 3 13 4] -3 g
Find 24-21 ‘V,',/,:}”‘ =dd3A-28
A A G
8 ) /8 P
Simplify 1{ - b | S
\125) \125
Simplity and write in a+/b form (-‘/5 -3/ \\/5 30 -u‘” LJ g Sarib S ARl ) TA Gy)
Caleulate fogy 2xlog, 81 LA log, 2x 102., &1 ()
- s 1) Define Lo @ JSw A Gii)
Simplify 1 Np) .+—-/7-- 1(«/4 = |- A (i) . g“{?; <
N3 W3
it x =23 fina = @ L,f/fﬁl"w’d Fx=2-3 5 Ciid
X
Factorize 64x° +27° %% 64x 42737 _ SA6E G
Answer briefly any Six parts from the followings. ’ ..g,"_’f L Mz L!Zi{.:..&r( Lt 3 4 i
: 2 " 2 2 . :
Find HLC.F of the following polynomials, x2+5x+6, x*- r- X'H3xHh |, x°-4x-12 -/ r)”!/” L g 2a (1)
3x x-=2 2\ ' 3x x-2 5 .

Y o —— e et ot _——— - b.:l; e
Solve the equation 3 3 6 3 3 ,,/J’ sie (G1)
Solve the cquation 2\/[ +4=5 2Jr+4 =5 _;[//J';’/c.-ul/ Gi)
Find the value of m and c after expressing line 2x = y + 3 inthe FELS 6 Sy =mx + ¢ fox = y+3etls Gy
formy=mx + ¢ -q/(}”»:»fd’cmm
Define Cartesian plane. Ey s K W)
Define coordinate geometry, _:—i,f_g /"'J A 2assT s (vi)
Find the distance between the pairs of points. A(2,~6) ,B(3,-6) A(2,-6), B(s,-s)-z_’;(#,wuyu&m (vii)
Define Parallelogram. _’ff ¥ /}-U(CL"”UU a7 (viid)
The given figure LMNP is a parallelogram 2 LMNPE oy 17 LFTS GO

ar



~(2)=-
Answer briefly any Six parts from the followings. 6%2=12

%0-41-20

Verify that 3cm , 4cm and Scm are lengths of the sides of a

\

Define biscctor of an angle.
triangle. .
Definc Congruent triangles.

13cm

Find the value of x

8 -
5cm
Lade_st3. 76 c

«

Verify that a=16cm , b=30cmand c=34cm are sides of a
right triangle.

Define interior of a triangle.

4ecm

1

Find the area

Define incentre of'the triangle.
Constructa AXYZ in which
Part

mZX =6.4cm | _ m¥Z =2.4cm ,

i

=34cm 22! b=30cric a=]6¢cm

By S et L

_u?uL«L’ '/Ldﬂfa.c»iwu’ Scmuszidem, 3em (éru”_,,

£ v T it
\. “Zep lue
A Y
x i3 em
— v
e dix
Sem

LG
-Juifb*’ {
s.J‘J/"L} ‘j.&f_/__,‘_';/,\"

(ko

"‘?-{'r}y ".;J

s RSN pa i
m S LEAXYZ
Q)

s

rj.?

Note: Attempt any Three Questions.Q.9 is compuisory ~ ( 8x3z
S.a.  Solvethe syétem of lincar equations by Cramer’s rule 4x + 8 a4 J" e3Pl LS /“” U
W ey = -1
b, ( a? P g\ @ (o PYIL NG ‘
_ Simplify —] —{  +5a"-a")r @ o —-—‘ +5(a” - a’ )” TS A
at) \a"; & \a’ a")
6.a. ' | 0.7214x20.37 i g
Use logarithm to find value of J 60 g L/ r:”"' el sl ,/ Ve
b. Find value of m*+n’+P*if m+n+p=10 and mn‘+np+mp=27 m+n+p=10" mn+np+mp=27 ,/];‘L/_’://rPs:angz"‘nz'#pz
7.a. If (x+2) is a factor of 3% ~d4kx-4k’, then find the value ofk.’ ’if r:i”‘ eyl ki sz §3x"-dkx-4k" \? LA x+ DN
b. : ‘+x-6 x*-4 o
Slmphﬁ/ to the lowest form. 6 X S L el
: o xt-x—-6. x*49 ' T
; 1 1 2 5 141
S Solve the Equation =NAaARcats ot L2 3x} —{u St
20 )3T B2 )
b. .Construct the triangle ABC and draw the perpendtcular bisectors of the sides of this trlanglc. .2“_‘,"r el ‘f_u;’i’ Linte LABCEL:
mAB =4cm mBC =4.8cm mCA =3.6cm
9. Prove that Any point equidistant from the end points ofa line o9 S (Sobm s o L L}',u’;u’r.k‘i"bﬁf W/ ot

OR.

Prove that Parallelograms on equal bases and having the same

segment is on the right bisector of it.
Jeif s

(or equal) altitude are equal in area.

918 - 0922 - 70000
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ATV

A2 f ez Limig e §d e Bditn A4 s

@
Gii)

(i}

(iv)

(v

(vit)

{wiiiy

{ix2
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ST s 2018-20102021-23 ¥ [l

- PAPERCODE 5198 A w20 (@ LSt

a.ug-é)ﬂ'c_ufg/’/tfu'bjh"/a(bf£?lj?;vz)c_ufu;/’!)£é.)&bLJlr;/,__LéKL}U?-L[.’Z?:—JDJJ’C'B‘/\':«Uﬁ}g/‘gd:ul‘f/{:&j
40l L1 E St PAPER CODEo3 £ o 1 e U1 MU £ 36078 555 bt 70,5, G § G SR S s
- 4 2’ ZL -q_f/f"dl»:/lb’l’::";j’&u){/.ﬁ-Jﬁ4/‘~TJI&dJ';J37fV Jf.;x:idlfkqj_/
Note:= You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen (o fill the circles. Cutting or filling two or more circies will result in zero mark in that

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) C) _ (B) (A) QUESTIONS Q-1
et e V2x-3-7=0zn|
26 52 49 7
The value of x’ from the equationV2x—3 ~7 =0 is
: we 206 )) Inlx-1, y+ 1) = (0,001 | 2
(-1-1) (RO I ERY (1-1) g shminiads
IfGe-1, y+1) =(0,0),then (x,)) is
25 5 s . The distance —?.‘JJGLBL/J)(("]' ,=3)s1(0,0046 | 3
between the pair of points (0,0) and“(-4,-3) C—
i - | R --drndeienddynz |,
The symbol used for gasallel is
ég e of " @&%/u Zlwenanz L] s L
Five Four Three Two A paralleldgrat has vertices. {
L . . RxxSY) e BadeterndlaBL | .'
AB AB AB W g ‘ . !{
) AB e§ymbol used for the line AB is ;
wird | g dr | [ abn____ eS| g %
Un-parallel Parallel Same Di Congruent figures have area ;
L BA S é(\lé/ ~ AL ot f Loy L el 8 "-Z
Concurrent Collinear Parallel ngruent | The right bisectors of the three sides of a triangle are )
| @ e | 0][s |
»b /l:C d }i O \/—2— 'g
Singular Scalar Unit Zero ¥27100 ;
1s called matrix .
0. 2 E— .
3/42 v4® 343 v 4° Write (4)% with radical form _"i’fgﬂpﬁgﬁ&/ (4)' .10 »
e~2.718 loge= 1l
| o 0.4343 0
loge = Where ¢~ 2.718
1 A2
N -Jn:»:J}-Jxx=4—\/17/’:
—-——-4 = —4-~17 | —4+4/17 4++/17 1
+ ."
- If x =4 —+/17 then the value of — is
) X
3 AE = nSE 0l | ) ¢
No one cm m Kg The unit of ratio is '
. A . 2 .‘
Ce+),e43) | =2 (-3) | (x+6),(x- - LAALIBLx 5546 |
) | G401 | (e 1)-6) The factors of x°~5x+6 are ' 14
' e B (XP-x-6) st (¥P-5x+6) Use
x+2 x*-4 x-2 X~ - = > U1 as
2 | HCFofG-5x+6) and (r-x-6) i

&) 7 919 ~0922- 50000 (4 )
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Part

Answer briefly any Six parts from the followings.

4a°b°

Simplify using rules of exponents ( =
a

Define Scalar matrix.

5

Find the product of [1 2][ 4

T

Simplify and write the answer in a+bi
@-=2)3-V=4)

Find the value of x when logy 9= x

Calculate using laws of logarithm
log, 3xlog, 25

Reduce the rational expression to the lowest form
x* +x—132

BYINT A6

Factorize

Answer briefly any Six parts from the followings.

156 0-4

120x*y°2°

30x'y 2* O
E

@@. 12 wySefebaflimge e tditn 3 40r

l/u.r;/( (L6 tf.:VU&.L.J

J-P’# -~
6x2=12 -/ /"'.:,l,lz/‘? Luzugc_(j/ eSSt 240
Y N N )

AN 1 2]{_54 } (i)

30 \72
(‘;‘ri } S e nl S S LGS (i)
a
@ g FSarviciznd A ()
(2 -V=-$)3-+-4)
10g319=x”92;r,1y_>2‘!x )
St denl S R )
@ log,3xlog, 25
5
@g}—-f - Ar P ATEF i)

30x'yz
Simplify (3 ++3)3=/3) -/ (viii)

Use factorization to find the square root. 4x %~ 12x + 9 O 4x%- 12x+9 _ér}*’(j/uj_pdj_g,}: ®
Solve the equation X3 _ x;2 =~1 x;3 —f:—z'=—1 IS el (D)
Solve the inequality. 3x + 1 <5x—4 Ix+1<5x—4 g/ S en s Gii)
Find the value of m and c of the line 3x + y ~ 1= 0 by expressing »!LL//:UJny =mx+c f3x+ y-1=0xbls  (Gv)
itinthe formy=mx + ¢ -q/(:b’ufgg(culm

Verify whether the point (2,3) lies on the line 2=y + 1 = 0 or not W 4_8:,42;\' —y +1=00VQDEBYSETLS )
Define Equilatera] Triangle. Sl e ngls  (vi)
Find the distance between the pair of points. A(3,-11),B(3,-4) AGA11), BG4 -ZEps Mg nLusinlse (vii)
What is meant by congruency of Triangles? fe ) /L/c.c,f v u}ﬁ_ (viii)

D, . C
If the given figure ABCD is a Somep 1Y Lo LABCD AL TSt (0

parallelogram, then find X, m.
55°
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Answer briefly any Six parts from the followings. 6x2=12 Sy felz B Linge $ ettt 440
Define concurrent lines. : sqp - q 2_-& -Z{.y/""d/b:b,bi’(" G
4cm, 7cm and 3cm are not the lengths of the triangle, Give ~2_{a>u;-wgﬁ.f;ugl_,/d/f/liklL.Lliu’gcm/ﬂ?cmdicm Gi)
the reason. .

When are two triangles, triangle ABC and triangle DEF 0 it —/DEF&ls s ABCEL s (i)
called similar.
4cmf

-ép‘”&fb(x Giv)

Find the value of x

Verify that a=1.5cm, b=2cm and ¢=2.5cm are sides of a c c=2.5cm s b=2cm, a=1.5cm fé&’ﬂ‘.j ¢%)
right triangle. | o L | _wuouLerJ,,:/uu
Define triangular region. : - 8 ) _ S .ULSV (vi)
Find the area _.7 _Zf-:r:"” S (vii)
T dom B cfn-
Define centroid of the triangle. e.éf_’-:-é_lf’(f(.ir’bf‘;’)uf/((&i‘w (viii)
Construct AABC in which - mAB =3cm , mAC =32cm , mLA=45° Sz tAABC (x)
Part I
Note: Attempt any Three Questions.Q.9 is compulsory ( 8’(3-24) gi@.df Mz lelivf e §fin)d
5.a.  Using Cramer's rule to solve Linear Equation. 3x — 2y =1 SIS il &S Ui (a)5
- —2x + 3}@%
2¢ 2m 2n % 2¢ 2m 2n
o a a a @ a a a g
b. Slmphfy e+m | men | n+t % t+m | min | n+é A /d 4]
_ a a a @ a a a
‘ | 8.97) x (3.9 @ 8.97)° x (3.95
2 Use logarithm to find the value of ( 3) ( 7?)1) (8.97) x( ) -é{‘)h)u‘, =y J(z/b”)’ (a)6
s, Y15.37
A 1 ' , :
s, Ifx+l=‘3,ﬁnd x = e x4 ix+—— 31 @)
X , X
'.a. Factorize by factor theorem X -x*-22x + 40 x’=xt=22x + 40 Z':u’fcu urdf.l/ (a)7
b.  Usedivision methd to find the square root. 4x* +12xy + 9y +16x+24y+16 -ér:k”('}/l/jgf:‘” 2 ()
2. sOlvetheinequamy 3X-2<2 41 <4x+17 -2<2+l<ax+17 g Sebd (28
b. Construct triangle PQR Draw its altitudes. . ' -J"‘; ClaulZ,u' l-u{ :PQR&L ()]
mPQ 4.5cm mQR 3.9cm and m4R =45
9. Prove that “Any point on the bisector ofan angle is . ULy 1451 fi4 ...M'L:C/.._w‘fr u’/ = -9
equidistant from its arms.” OReeee J e c.l:‘x.lﬂwid:l/
PArove‘ that “Triangles on the sémg'base and of same altitude L £uw!un6b/wl§'6¢~ﬁiuﬁ’v o I”u‘/ ot
are e‘dual in area” _ _ . ' - Juy/l/u',u,,uy/u
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PAPER CODE

560-4)

Note:- You have four choices for each b)ecnvc rype question as A, B C and D. The choice, which you think, 1s correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the bolh sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will be responsible [or the situation. Usc of ink remover or white correcting fluid is not allowed

-ffkf’)/{:»g/dﬁjlgl{:,gg/‘z;'L/-:.:/,:,,_J'U/JlIué/b (({JL?) 0921

U-(C uﬂ/ i &J&d/i’-é

¥

5197

2017 -19 to0 2020-22 %

15 A

242013

(& Tl
L ci;/c,JL//LJ(o/l wdw&.ﬂwz’._.,u“uuuf.c.)::_véidu //dml ..u‘(l.c._:[)u!C B« A».«L!i’,leoﬁ Ji pnad

Z ey Jlbn ﬁu"li./g,u PAPER CODE.;)J"'/,:/ gl /’Iu:’»d..db’du’ 5’}’1)‘”&-..11 N!(wg,’»- ;,u'J/__// S gl // :fLJul)e;L J
c_Cr’JL‘“ll{)ybwLur’“M L()’/H‘JU’LS/'JM)/rVJw/ﬂJij o/ S

(D) (€) (B) (A) QUESTIONS Q-1
‘ .. e L K2, -2) i~ G
a.n (0.0) (=2.-2) (2.2) C(-Jzﬂ(}_' 82 ,-2) 11(=2,2) b 1
Mid-point of the points (2, -2) and (-2 ,2) is
) LL)';gu’lu;"ﬁJﬂU“(j)l/:__u:/Lhi.’gu):?Ja?;ugl 3
by e il Sasf 2l ‘ 5
) ] A point equidistant from the e byl saee
Mecdian Perpendicular | Right bisector Bisector ) ) : o )
end points of a line-segment is on its
Ja,)uw/alm-;,zo“f;m{a,;a,ﬁw::‘xhﬁunu,u 3
0 Al -l
120 90 60° 30 One angle on the base uf an isosceles ‘a,tf_/l,@'
triangle is 30°. What is the measure ofits vertical angle
S
i ot 4
-c‘;.,g/:{{..,lk?i:{fl/‘di 0 I}JG
3-by-~ 1-by-3 2-by-3 3-by-2 1 3 2
Order oflram‘.pos 1iis .
. 3_2
o J& 16 7
Q{BO —c-slaxIn| l =05
6 -6 -9 9 =
= 0, then X is equal to
S, _,t(j" V35 | 6
35 5 : S .
3 3 0O In V35 the radicand is
' N OV et JAKE S 4| T
5+4i ~5—4i = =54 4i )
The conjugate of 5 + 41 is
log g @5\(\? q
: l - lo (—) logp=logq= =logp—lo .8
e og(p = q) AW gp-logq=___ gp-logg
(logm)™ | 1og(mn) m log n nlog m .;_Cf:(p(a(df JAogm™ | .9
(@4 a)a? —at £5%) | (a=b)a® —uh+ 03} | Ca+ B *0b=bY | (a-b)ad+ ab+b?) (13 =+ b3 is equal to -f_,fl/_a:; + b3 10
e3P E N L3x% — x = 2| 11
G-1.03x-2) | -1,06x+2) | G+1,0x+2) | (b+1).3x-2) oy ’
Factors of 3X“ — x — 2 are
a?+5a-14 _ a+3
a-2 a+3 a+7 a+7 R L e vrrt el
a+3 a—6 a-—?2 B=6" Poimpiigroois , i3
PrY a2 30-18" g-2
. 1
o1 1 1 1\ i O Xt 4 2|13
sfo-2) [ | b 2) (o .j
i S % X : The square root of x* +o 2is
3 e K FL -2 <x < %.,m/ffx = 14
3 - O =5 3
2 X = ___isasolution ofthe inequality —2 < x <;2—
—slsydny = 2x +1cx = 21| a5
5 4 3 2 X 5 ‘
Wy=2x+1,x= 2thenyis
& 919-0921 ALP - 60000 (43
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Part 18%-44-21 s o

Answer briefly any Six pacts fom the followings.  6x2=12 LSy febn P Linga$S e kit 240y

# i
W

e i T A i e

zZ 3 2 3 .
— e (
Multiply the matrices [1 1 ][g 01] [1 1 }[g Ol]uf/r‘)”d"abg}/" 1)
0 =21 g —2
Find the multiplicative Inverse. (if it exist) A = [—21 g] A= [—Zl ?}] (ﬁfﬁ)%/p""dﬁ’d/ G

Ui Giid)

wx iy +1=4-30 SigSppeddyax G
Log,x = 5 y/peddxfen ()

Write in the form of single Logarithm Log 25 - 2 Log3 Log25 - 2Log3 -&=, P att f"’ Kty (vi)

Simplify (3+V3)(3-V3) .S (iid) Simplify V21 x V7 x 3 U/ i)
3x —243x3 4S84 @

Evaluate i°°

Find the valueof X and y if x +{y +1 =4 —3i

Find the value of X from the statement Log,x = 5

Factorize 3x — 243x3

Answer briefly any Six parts from the followings. 6%2=12 /(/, f =AlR /‘." h{c.‘j:( c..gﬁi)'bﬂ ) / Jir
By Factorization find square root. x% -1 +$ (x #0) x% —1+ i ) ,é(yb’d/}luad/’)jjw ()

Solve Vox+3 = Vx—-2 LG smveQEZ Nex—4-2=0 S G

< = . .z i o
Verify the point (0, 0) lies on a given lineornot. 2x —y +1 =0 2)@ =0 uﬁ’gc‘_duédudnw(o,o)ﬁfz&zw Gv)

T S TS P, W A s T 3 o e v P 7 o e P e e e e

Determine the quadrant. P(—4,3), Q(—5,—2) %5 P(=4,3),Q(=5,-2) ‘2‘{(}’”61 )

Define Equilateral triangle. @ _elBE gy (i)

Find distance between two points. AC0, 0),B(0,~5) @ A(0,0),B(0,-5) -, (R el n b (vid)
A

- |

e i S xaime P S Edng (i)

Find m and X for the given congruent tri

R X

(5x+ 5)°

(0]
5 4 AL ,
B spu=3Dom+e C
-Z—fpl”n" sl m°,y°, ' AFlng @

Find X', y°, m’ and n” inthe given figure.

N n® 70 v ‘n07
XAY° 75°  x0d)° |

920 - 0921aLr - 60000 (PTO)




Answer briefly any Six parts from the followings.
In the given congruent triangles LMO and LNO, find the

unknowns X and m. L

2x+6,

M&=r70 12 W
What will be angle for shortest distance frem an outside
point to the line?
Define Similar Triangles.
Find the unknown value in the given figure.

=
2
X J < Cim

fcm

Verify that A having the following measures of sides is

right-angled. a= 16 cm, b=30 cm,c=34 cm

Find the area of the given figure.

—

Define Altitude or Height of a triangle. 4 Cfﬁ l
Constructa AABC | in which

Define Incentre.

Part I

Note: Attempt any Three Questions.Q.9 is compulsory

3

Solve the equations by the matrix inversion method.

mAB = 3 cm ,mAC = 3.2 cm 1

- SaH42-3!
exa=12 g Srfehz S lmgediautdits Aty
(:L”/uime/;lx rﬁl”tt_ﬂLNO »1IL.MO UL"JE"J&U"‘{J) )
L
ur

uw+§

M==—% 1 N

b et b e L 2 e s sy G
NP PPy uf AL S5 ob8

gt Pl aiie (i)

Sl Sxp it Jo G

xl : 2 cm

1 em
wlio, LU ST g e JALSEIA L2 e ()
a=16cm,b=30cm,c=34cm -g.,;lﬂl;ﬂi’

S 3KFES D
IO
S Skl (vid)
J S SAABC  (viid)
0% SIS PSS a0

(D -
%3#4) 9 A d S 2 ezl eyl edfes
-éJaJJ)LufPQ/Luﬁﬁfuil,v (@5

¥=y==1
Solve the equation for real X and y. DN x + yi) = 2(x =2y0)+2i—1 qzjf‘)’u:y Alxfebls  ®)
0.678%9.01 3 %
Usc log to find the value of ——63557 wgf:(rk’o{' sy ur/ A9 (a)6
x24xy. x2+xy x%—x a8
Simplify . - & ®)
- y(x+y) Yx+y) xy=2Y #-
Facorize 25x% — 10x + 1 — 3627 25x% — 10x + 1 — 3622 _&y7 (@7

Use division method to find the square root of the expression. x* —10x3 + 37x* — 60x + 36-2—.‘.{()”119 (LJ) 2 ()

5(x-3)

Solve X = 1-——JS
9

Construct AABC and draw the perpendicular bisectors of their sides.

5(x—-3)

6 EAVANCY:
~U3§§[J‘VL5H“J:CMLu’mtuﬁ-,_ABCw ®

X
—_—x=1=-=
9

mBC = 2.9 cm ,mzA = 30" msLB = 60°

Prove that
“Any point on the bisector of an angle is equidistant
from its arms.” SR | S

Prove that

“Any point on the right bisector of a line segment is equidistant

from its end points.”

fu_‘fc:f.t“ -9
e Ui L B gt L
" b LI ol
fu_f/cz.b‘
;gﬂs;;ﬂél;/_:»j/l}dufLb';b;v/(‘&;}..{l//l"
"y LGl et L85

S -
]
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PAPER CODE 5192 5AS wan (P Ll

e li-E Aa LA 30 Qb Lirer ne sz LJir 148 K07t 2 DACBAZME G L i prnd
/_:é.,}beUz' Zui [_/Gu PAPER CODEJJ’.I”,_j_,'.g/_:,,)lr(jl-.iif’!u)i))éé (L_;lﬁ-b’ﬁjr"w.,.«lﬁufl utoJfJL//;/.;KgL/qu,gr),;g;
..lc_c:“'Jb:‘"l(5;.{{’4_—3/&//&/\.&-,&7/,#‘.7/'%611),‘jfrwufca/:‘(,(ubkmf_/

g

Sa0-4
Note:- You have four choices

question. Write PAPER CODE, which is printed on this
otherwise the student will be responsible for the situatio

or cach objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
n. Use of ink remover or white correcting fluid is not allowed

&""/x

@) | (© (B) (A) QUESTIONS Q-i
_ “ -1 =-21_1 01 ¢
[2 2] [2 O] [O ZJ [2 2] X = “1""”;"'[0 —-1]“[0 1]’(' !
0 2 0 2 2 2 2 04 -1 -21_M1 o0 -
If x + [ 0 _1] = [O 1] Then x = ...
2~by-2 1-by-1 1=by-2 2-by~1 The order of matrix [2 1] is. «—.o»6[2 1] | 2
~i i -1 1 The value of (s ... «;...;furig 3
\ 46 ‘\/213 V43 V42 Write 4°/3 with radical sign .. —— -_&gufpﬁﬂi_uq‘zk 4
lo ‘
logq—-logp lng +Iogq 1 gp logp-—logq The value Oflcg(p/q) 18 .. log(p/q) = ... .5
989
log (E) :ng log(p — q) log(q/p) logp — logq issameas ... @X— =logp —logqg | .6
q 089 a
l-:/')l/'ﬁi a/.'v- eyl Mz : @W’I(‘lx + 3y — 2) 7
Inequality Sentence Equation | Expression | 4x + 3y — 2 /1\5(:\3 glebric
RSl =55+ 6| 8
(x+2)(x+3) | (x+6)x=1) | (x=2)(x-3) | (x+ D(x—6) $ 2 :
The fag x“—5x 4 6are ...
N » - T _
x4 2 x—72 x4 3 ix—6 \}b-g_,--_,)’uw X“+x—6 s x—2| 9
<f<j CFofx—2and x2 +x—6is...
: & 2 berls 2 W xt
4 1622 _gy? bl S I WBY A 64 | 10
What should be added to complete the square
(§§ of x*+ 64 ?
x> 10 x <10 x S\lf)) x =8 If X is no larger than 10,then ——- Frit$%e10=ddx 1 | 11
e 206, y) In(x—1, y+1) = (0,0).71 | .12
(-1,-1) (a,n C-1,1) (r,-1) e .
if(x =1, y+ 1) = (0, 0) Then (x, y) is ...
2 v, ot
3 . 1 Ba L |l —a® & 6060, 0) (1, 1) 56 | .13
Distance between points (0,0) and (1, 1is . . . .
ufu'd,u LkeyiSsin :_.«)f}’l;’lll? & o a2 .,‘QJLL;(.-..U:?J*U’CLU’!:)éLﬂ&ﬁ“V{! .14
Isosceles Equilatral | Rightangled Scalene A triangle having two sides congruent is called . . .
St | o ost = i LS K LS | 15
uf/ud Bisect at Trisect Bisect The diagonals of a parallelogram . . . . each other.
Notsof right angle
These

921-0921 aLr - 55000 (1)

2 S
[y /Z /

 §
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Answor briefly any Six parts from the followings. eamts LS FMEA Lz gedfeiditn 2 Ay

Find the values of a ,b,cand d which satisfy the matrix J(th?unfauvénd)zéph’uf‘-;gf dslcdea
scaptian {a +c¢ a+ 2b] _ {0 ——71 [a +c a+ Zb] _ [0 ——7] .
S .c—114fd‘-—6 3 2d c—1 4d—ol 13 2d e
Varify thatif 4 = [O Zi], then (ANt =4 (A=A JEHPIA = [(1) ﬂfi
N £2% . (52)3 ¢ gy 18 .
Simplify. 527 + (5%) u A W) Simplify: (Bzx y ‘z) oL 5
‘ 625 xt yz7* :
Find the value of X logegax = ::f- logesx = %zév._{r)”;éd/x
If log2=0.3010 , log 3 =0.4771 and log 5 =0.6990 , slog 5 =0.6990 & log3=04771¢ log 2 =0.3010 A
then find the value of log 1?6% log -;—%2?;(’[”&3?
’ a2 — AxY 2 _4 . " . .
Reduce the rational expression to the lowest form. Sﬁ%ﬁgﬂ %X ..u_/d’»? u’:fu:?/iféi VJ’L’
simplify (VE +/¥) (V% = S+ »EE+) (Vx + y)(¥x = JP)xE EE+YH) e
Factorize x(x—1) — y(iy—1) x(x—1)—yy— 1) ;{f\j/;

@

Giy
Giat)
)
(i)

(vii)
(viii)
()

Answer briefly any Six parts from the followings. 6x2=12 L g <ﬁ&" ; Ll?.hgc.éf a,ufJ,SZw -3 / Jir

Find H.C.Fof 102xy%Z, 85x%yz , 187xyz”
x=-3 x-2 __ -1

o %%@ z,85x%yz, 187xyzz-ér,bf(5’.,l,

—3 .
Solve the equation 5~ ™ % % — '{E'Z‘ = =] ’Z;:‘f/:/i:v

2
Draw the graph of ¥ = 4x ~2r€kdlf(y = 4x (iv) %5@ Solve |x+2]—3 = 5 —|x+ 2| kS
write3x +y—1=0 in the form of Yy = MX —@@ éﬂ’fuif’“&y —mx+cB3x+y—1= 0
Find the mid-point of given points. (6, 6),(4 o 6,6),(4,-2) 'Zgr)b’ S0 Kbl
1,-D 7,5),0,-D i Ao » LIS
7.«AABC = ALMN i

Find the distance between given points,

1f AABC = ALMN , then

C )
30 C 300
60° %
9()0 %0
| 309 60° 90° o
A B [ 30° 60°,
A
L M B L N
G) maN = Gi) mzA = _ () msN = Gi) mzA =

Find the unknowns in given figure -2_{['}"/'1‘:“" Jno Mm e y° ¢ xorﬁjyttﬂ«j/}&?@

/Umi" ’""7 ﬁ;" 1O
I e sl

/922 - 0921aLe - 55000 (PTO)
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(i)
(i)
C2)
(vi)
(vii)

(viit)

(ix)
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Answer briefly any Six parts from the followings. 6x2=12 vy /’ JOINE 4 /"‘ LI/!{:..J:" ALl A dlr
L

In the given congruent triangles LMO and LNO, .--u’ /(:1” JIM’JH] »IX ()1” bk LNOJ:ILMOUB‘/J (P )

find the unknowns X and m.

2x+ 6
M= 0 12 B .
3 ¢m, 4 cm and 7 cm are not the length of the Triangle. ;,Jil;-ujuﬁ’ul;w JC!JJ![..:J?‘J('/ cmsldem,3cm G
Give the Reason. - / oolos
A A
15cm 13 cm 15 em 13 cm .
Find the value of X in the shown figure. J_fr)”x;,l)(’ Gii)
B 1 C B (
X D Scm v D sem ©
Find the Area of the figure. ..u_’/r)” J/K‘)ﬁ (v)  Find the unknown value of the ﬁgure..-u_’/ryb’;ujg,(x (}”LC_J{; Gv)
10 cm 10 cm |
. _ 6 cm 6cm|
, 10 cm
16cm ) ‘ 16 c,'n X
Constructa AABC , Inwhich S - u’",t'AABC (vii) Find the Area of@ﬁﬂ:. _g_g.'/...é_l/‘?d/j%‘)(j )
mAB = 3.6 cm,mLA =75 mLB =45 @
Define Ratio ~u/_,w/’ O/J (lx) tere. -Qf_y/ﬁJf/ g}ui! (viid) !

Part- -
Note: Attempt any Three Questions.Q. 9is compulso y * =24) q_dJUQ / Jtr-u:/ 4, f A f.:amrcﬁ." G—‘j’f:b“;

Solve by the matrix inversion method 4x + 2y 4x + 2y =8 -Z.:’/Jc.,MJJ:;‘Z@JG' (a)s ‘

3x 3x—y=-1
a\PHa qn\9TT g aP\PTD a9 -
s pere (s o <8 ” & & - v ,T\D-T 255
Simplify (aq) '(a") =5 ,a+0 (aq) ) (a”) - 5(aP.a") ,a#0 «:‘:":/‘;(b)
Use log tables to find the value of % ‘u:/(}”u:g L,(Ji.vu?c.u JLJJA_P /Jb’;} (@6
a?+2 + : VaZiz + YaZ-2 5 (
e b)
iy Vatss - Var-2 s S
Factorize (e + D) (x + 2)(x + 3)(x +6) — Bx? JEESF G)7
Find square root by division method. x* —10x° +37x% — 60x +36 . —(}”(:} 2l (b)
- 5(x-3
Solve the Equation 5(x6 ) _x=1- g SxT3) _ x=1- ; -Q—Jp[u’}l/ (a8
Construct the AABC and Draw the Perpendicular Bisectors of its sides. J"fuﬂtd:fécwld—g,ﬂuld'bAABC )

mAB = 53cm meA =45 meB =30
;ﬂdljéwtd)/l_b;gffﬁug‘ﬁféat‘ -9
¥ Lol slr s 2 15 285 L0y

Prove that any point on the right bisector ofa line segment is

equidistant from its end points.
——OR,

(S

UL 1B Ly .,vtéé.,uo/ Sl '
_g.l:'ﬁ.l»"wld;l/

Prove that any point on the bisector of an angle is equidistant from
its arms.

922 - 0921ALP - 55000
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FL IS I35 Jor L N2 zone LU s L (J¥12-F L % D #C B, A a2l L Jirg 29
J}:L’{ 24 1 J')' u]»é Q(Q‘R-fﬂu‘.’w -2 W5 - :—J}‘JL/‘é f.‘.b’& i_/,;’:.(u:fb wlic ..{l _'.':/."c,

~&- L/dt‘:’l Vb:b;}‘g /ufx.f‘-Jn{ ’)‘..)lb d/b.;}_;(l;tﬂ cw:‘(!;fh ‘ u_’/.é‘_/'b JW& J‘L/’b» PAPER CODE
Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
fill that circle in front of that question number. Use marker or pen fo fill the circles. Cutting or filling two or more circles

will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.
Use of ink remover or white correcting fiuid is not allowed.

(D) (C) (B) (A) QUESTIONS Q-1
-1 0 -1 2 1 =2 -1 -2 Adiointof |! 2 [is......
2 1 0 -1 0 -1 0 | S N q_,d,(Adj 0 -1 1
—i i -1 1 The value of i° is ...... et f 7] 2
log p p p
logg —logp |logp +logg | 0 |108P 1084 e vae of 108 o Jis... =c 2 OB ]| 3
(a-h)(a!ﬂlb-h’) (a-h)(u2 —-ab+h’) (aoh)(a’ —ab+b?) (a—h)(azﬂdnhz) a3 + b3 is equa| 0 ...... _% £z al + b3 4
- AT o S
(x=1),3x+2) | (x=1),03x-2) | (x+1),(3x+2) | (x+D,(3x-2) e i
Factors of 3 are ...
O e Bk d?=2a+]
(a+1) (a-1) +(a-1) +(a+1) O T C1sie 6
Tk rerootof @”—2a+lis .......
Y e } ALY =26 x N
x>10 x<10 x<10 x%O Inssret0d x| 7
AN If X is no larger than 10 , then -
97
v 11 Il (@9 I Point (2 , -3) lies in quadrant < LOLg~2,3)5]| 8
“1,-1) ©,1) g (1,1 e Q€ (2,2)51(0,0)55 | 9
Mid-point of points (2, 2)and (0, 0)is ......
N B -
& B N s SR LB B E e Tun du;----m.{smiutﬁ 10
Square Line Circle Triangle Three points are said to be collinear, if they lie on same .......
R o i i L A b6 L Lusinl et | 11
One fourth One third Half Double Y a—
The line segment joining the mid-points of
two sides of a triangle is .... to the third side.
et It BA G | The Lt LWL st | 12
Bisector Perpendicular | Concurrent Parallel -bisectors of the sides of a triangle are ____
. - | P & S| 13
A = = (B k DRI -
Symbol usk#:for congrﬁa'
2bos L Sk | et et P vl sy | 14
Median Altitude Bisector of Bisector of |Perpendicular from vertex to the opposite
side angle side of a triangle is called -~
e wf ot et B s ol o Usr L 525 2| 15
Median Perpendicular | Right bisector Bisector A point equidistant from < tx db{ '
the end points of a line segment is on its —--

919 - 0919 - 58000 (1 )
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Part I Sl -
Answer briefly any SIX parts from the followings:- 6x2=12 L Pl g dletdits -2
Define Square matrix with example & Ehe JefShd, ()
A:_lz A+]] o g A+fl 1 -Az—l 2 (ii)
If [2 l]thenﬁnd |:1 1] el L 1] in [2 l]ﬁ

Express in ordinary notation 7.61x10™ _&f u:rf}rk (iv) . Simplify  3/16x"y’ -y )
Simplify in the form of @+bi %:_—3: %t—:? e pJ atbi )

+2)(x* -1 ;
Reduce 1o the lowest form%‘:l))((—xxzj% o P74 (vii)  Find the value of X when logy, 9=x £& i X (vi)

Factorize x*-11x-42 2L $7 (ix) Simplify 32435 y° 2" 2L A (viii)
Answer briefly any SIX parts from the followings:- 6x2=12 -q)’(/’ > 1zl {edfc. S Jib.u -3

Find L.C.M of the following Expressions ' @ I/ ry""ﬁ S ¥uM g (i)

102xy’z , 85x°yz , 187xyz? {&ﬁolmxyzz , 85x’yz , 187xyZ’

Solve for x |3X 5| g/ L i) e the Equation J Ix—4-2= 0/ Sfan (i)
Find the value of m and ¢ of the following line by %}%5 eddeamli b L y=mite f.-;,l,t/-‘j" ¢ (iv)
Expressing it in the form Y =mX+¢ 2x *)@ 2x—-y=T /¥
Verify whether the point (2, 5) lies on the line 2 20 or not Hie By 2x=y+i=0 Gi2,5) BLitnly/ds W)

ifing of the following /P55 Q¥ aic LudUsiz L4852 (Vi)
< 6) A(2,-6) B(3,-6)

Find the mid point of line segment
pair of points. A(2,-6)
Find the distance between the following pair of points. S deigen L usiz Lo St (vii)
A(-4,42) , B(-4,-3) A(-4,42) , B(-4,-3)
What meant of point of trisection? ey Ve el s (viii)

Find the value of x of APOR g ed S x L APOR (ix)

R Cm
Answer briefly any SIX parts from the followings:- 6x2=12 -;,[)}/.-412,"& IZ) § & ch. 9+ ;tl(w -4

Define bisector of an angle. -’41: -.g’/."gf AN ()}
If 3 cm and 4 cm are the lengths of Two sides of a right angled U 4 cm /3 cm WIS Loty & el ol 246 G i)
tnangle then what should be the third length of the triangle. RN F Lk
Deﬁne Converse of Pythagoras' Theoremu/uu Y 4 uJ/Jg (iv) Define proportion. _g{ ._y/"J b (iii)
Define Altitude of a triangle. 25 A L/ ¥ &t (vi) Define Centroid. Sl W)
Constructa A 4BC | in which mAB=4.8cm,mAC =3.7, m£B = 60" LSS AABC i)
Find the value of X 13 cm-éji: (;L”.-/f J X (ix) Find the Area of given fig, > (:‘V,g'z 1 fuf i3 (viii)(

sem  PT.0. 920-0919- 58000
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-

8x3=24 _ U9 UrEy/tfeinl atrfe §f o)

Note: Attempt any three questions. But Q.No 9 is compulsory.

(@)  Solvebyusing Cramersrule 2x-2y=4 , 3x+2y=6 & Senuluifls/ O.5

2 1

2 1
(216)° x(25)? (216)° x(25)?
(b) Simplify - T
(0.04) ? (0.04) :
(a) Evaluate with the help of logarithm ¥2.709 x V1.239 32.709 x V1.239 Sl
(b)If a+b+c =6 and @’ +b*+c? = 24, then find the Ina’+b’+c* =24 4 a+b+c=6fi
value of ab+bc+ca _g‘._’(-,lv_.,gJ ab+bc+ca
(a) Factorize: (x*+5x+4)(x*+5x+6)—3 (x2+5@)(x’ +5x+6)-3 2L yf

(b) Find the H.C.F by Division method ~ 2x° —4x*—6x , x§ -3x J(P(’;,,r"i,b

(a) Solve the following equation -\//(J"'-’cf Kol J;r &

Q§©

3G=3) X ClCi) R

6 9 @ 6 9
&

(b) Constructthe AABC and draw t ors of the -u::'f&_;nté Uil & NS L ABC

angles m AB = 42cm, m BC cm,ma=5.2cm mAB = 42¢cm, mBC =6cm,ma=5.2c'm

Prove that any point on the bisector of an angle is e UL Byt L il o U et

equidistance from its arms. " -& b Lol foln
................ OR ... #.. V' /S T—

Prove that Triangles on equal bases and of equal L duws st dle sl e G & Pl ISy St

altitudes are equal in area. -J Urslz

9200919 58000
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-U_'fb;’)/fag‘/_"’ Ju '\;',l,; ﬁfb‘: 24 =y U il
s (201517 10 201820 )
PAPER CODE 5198 (s 1/m)
Lﬁgﬁtfo?b.'ab'f&’,l&fd: 2 ene S el sy
Jr.‘"{ 24 Lyl _5')' u:"::é.

You have four choices for each objective
fill that circle in front of that question number.
will result in zero mark in that question. Write
sides of the Answer Sheet and filf bubbles accordin

Use of ink remover or white correcting fluid is not allowed.

(D=t Uik

—

(Fesz) 091y
(&%) Sy
L2050 &
(Jd2.2 L2z, D iC,B,A szl & iy wd
Qb’d‘i-{x 57 3l I s L = L/,;’/.L'O’L LS s whic .2 S

J,:{ Pl o0t eS8 Sl I E NES s PAPER CODE
type question as A, B, C and D. The choice which you think is correct;
Use marker or pen to fill the circles. Cutting or filling two or more circles
PAPER CODE, which is printed on this question paper, on the

both

gly, otherwise the student will be responsible for the situation.

(D) (C) (B) (A) QUESTIONS Q-1
s ¥4 3 é& -t ;{_‘,g[‘}"ﬁ: Saadenlusy | 4
Four Three Two Five Equality of ratios is defined as proportion
m? m ms™ m? The unitof areais - Jer gl 2
Lusu$is i3 v = -« 0w %90° a6 A7 L] 3
Parallelogram | Trapezium Rhombus Rectangle |A quadrilateral having each angle equal to
90° is called
st ):C JLm UM ‘\/5 0 4
« el IE J2 | is called...matrix
Singular Scalar Unit Zero N
) — & —p
-1 1 i i ;(Qg@?l@eof i’is sl =S| 5
y' =x 2'=x X=y x'= @&Q}?) Zny=logzxfl 6
% The relation y = log,x implies
¥
o [ an [ [ s (a+ Vo) Na—B)| 7
(§\> (\/;'i-\/l—J)(\/;—\/E) is equal to.......
16 -8 - 4 Febourlrd¥x+axrmd LeZ/Um| g
Findm so thatx? +4x + m is a complete square...
-2 -4 RN xa2 P \F AP - 5x+6.,4¢-x-6| 9
HC.Fofx’-5x+6andx’-x-6is_____
3x+5<0 x>0 x-2<0 x42<0 eI L_ eblegx=0] 10
x = 0 is a solution of the inequality
(1,1) (0,0) (1,0) o | & 4 (xy) I (x,0) = (0.y) ] 19
If (x,0) = (0,y) then (x,y) is .......
2 2 1 0 = Leblen L (1,1)9(0,0)58 | 12
Distance between point (0,0) and (1 Mis
s VL b 2l i d"Jt?L,,um’},}x 30° iLiNals i 25557 13
. . . 0
Two times Three times Four times Equal If one angle of a right tiangle is 30°, the e JgJ
hypotenuse is....as long as the side opposite. angle
¥ s o " : 'Zy;,‘f’fﬁ%q gﬁi £ By S| 14
. jggonal of a paralléjpgram bisect into
Six Four Three Two ngguent triangles.
ig}:’;“,{,h}&’.ﬁf‘c,ﬂ/c—if-t;emuj 15
" s % L SR U Sotilos
Bisection of an angle mean to draw a ray to
divide the given angle into ___ equal parts

21 - 0919 - 50000
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Part I ol -
Answer briefly any SIX parts from the followings:- 6x2=12 -q)}f.qm,"élZl {c,&f.—_ 94 gb o -2
Define square matrix with an example. -é = Jo /‘7J 3, ()

2 1 4 -2 2 1 4 -2 )
Find the value of X, if | 3 _5 [+ =| | _, 3 _3|T X g | f-E i x )

Use Law of exponents to simplify (2x°y™)(-8x”y?) @y )-8 25 A Sy LU i)
' 4+5i . ; : 4+5i
Express a5 in the standard form a+ bi ; -é bt a+bi fu‘,g,«/ 4—}5:- (iv)
Find the value of unknown log,81=L & (e Jr}"t (vi) Calculate: log,3 xlog,25 .z (i ()
. Txy 14y 7xy 14y e Bk
: o + st (vii)
Simplify: 2 dxtd P-4 = gy Sy e éld
3 3
-2z = - sk
Evaluate > for x=3, y=-1, z=-2 x=3,y=1,2s2 6 = yx. 2 2 e (viii)

Factorize 125x’ - 216y°

25x“ -216y° _ZE$F (ix)
A : /e “a dss
nswer briefly any SIX parts from the followings:- 6x2=12 _(J/¢ “} 1Z! & = c..u!J.th -3

Find squre root by Factorization 4x°- 12xy + 9y 45 oy S+ B use 3 PESE )
Solve the Equation 32— =3/2/-28 % V21 =321-28 _y/Sff e (i)

Solve the Inequility —-;- x+5<1 @g -% x+5<l g Sflaner i

&% Senmat Z i L6 Lty=mx+cs 2x=y+3 =bl- (iv)

Find the value of m and c by expressing the line 2xs

form of y=mx+c - vy r}"‘,:"'f
Verify whether the point (2,3) lies on th y+1=00rnot  UFleChy2x-y+1=0U023) BYYLSIH# (v)
Find the distance between the pair of paints A(0,0) and B(0,-5) -q/p’*‘.l-ﬁ e L B(0,-5) 41 A(0,0) b6 ss (vi)
Find the mid-point of the line segment Syn€is 4541, & < B(3,-4) 4 A(3,-11) b2 (vii)
Joining the pair of points A(3,-11) and B(3,-4) -q/ (P"Eﬁ
Define A.S.A postulate. SIS s ¥ S Pes (Vi)
Sum of the two opposite angles of a parallelogram is 110°. J; -&110° s KU el LU S~ (ix)
Find the remaining angles. -u_/ p‘"u:/w" J Jgsli

Answer briefly any SIX parts from the followings:- 6x2=12 -Q&/’..-.«W/‘?A: d} {;ch.u‘! Jitw -4
CD s right bisector of the line segment AB f e st $¥ BB S CD LSS (i)
If mAB=6cm, then find the mAL and mLB " ’ _é r}" mLB s/ mAL s mAB=6cm

° Define Ratio. 25 ¥ e (i)

2cm, 3cm , 5cm can be the lengths of a sides of a triangle? ‘e JL [ Se oo £ usi5cm  3cme2em Y (i)
State converse of Pythagoras theorem. - /. Jbk 4 C_o,.t’/f (iv)

P.T.O 922 - 0919 - 50000
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Verify that the triangle having measure of sides a=9cm .
b=12cm , c=15cm is right angled.
Define Altitude of the parallelogram.
Write formula to find the area of parallelogram.
Define point of concurrency.
Construct a AABC | in which
mAB = 4.6cm , mAC = 4 cm, mZA = 60"

Part Il

8x3=24

=9cm , b=12cm, c=15cm UYLl 2 ls (v)
e NG Lte (Y A
S Lt $i (vi)
UKL S 5K ey St (Vi)
B wii
S L AMBC (ix)
mﬁ= 46 cm, mE =4cm, mZA=60"
(2 ~~
e Sy S fen L et §f o)

Note: Attempt any three questions, But Q.No 9 is compulsery,

2x +

Solve by matrix Inversion Method. éx +

y:
Sy =1

ot [S555] o

A e 3PLUFLuK (s

Use log table to find the value /2.709 x1/1.239 o ﬁ%%x 1. 23 -J/(;"‘.Jc,u JJ’("KJ 06

i 1
if p=2+3 Find P ——3

p E
Factorize the following cubic polynomial by §&
O

theorem x°-2x%-x+2

N Ne o ‘L/p 2+3 /i (&)
_éd'/ﬁ,(&(?//(}z)ufgtibj)cu‘!df.p 0.7

X2 -x+2

Use division method to find th e root of the & &/u.:g(-j.g/& ()
expression 4x* + 12xy + 9 X + 24y + 16 4x? + 12xy + 9y* + 16x + 24y + 16

-3 4-3 .
Solve the inequality —5< 3 X< -5< 7| S S s 08
Construct the APOR and draw its altitudes -Z}.r EEN L J!u!u_,”kzPQR:J}- ()
mﬁ§=6cm 5 mﬁ = 4_Scm, mF[‘( =55¢cm mPQ =6cm i mQR =4.5cm, mPR =5.5¢cm
Any point inside an angle equidistant from its arms is e UL SBLS Ll &l uj S
on the bisector of it. Prove it. J7 et bt (34,4 ot L sl 1 b e I Lo (Ssl

IIIIIIIIIIIIII OR AL R R R T Y BERBEPEINONEEEE. L LA A R AL AR R

Triangles on equal bases and of equal altitudes are

equal in area. Prove it.

922 0019
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15,4 F PAPER CODE 5192 (s S10) B

u’l/’:l)’p/b)bfdlb ......JJ .//);.JU;/‘J& (__)C:-L/)/Jif’/ld(dll e Z_J D »C B,A ._,lb’ju’édlr/ Y
J)’/;/JVJ'..J’)’U!))LQ(L;'J’ ¥t % B 42 0uda -wl!’JL/a(/n—d(LJ—/4/U)/|)0)LJC,J é_:/:.

s LA L i, Jn H‘.Ju d,u.,u(v‘,t e ulice el 1L/ s PAPER CODE
Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct:
fitl that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsibie for the situation.
Use of ink remover or white correcting fluid is not allowed.

(D) (C) (B) (A) QUESTIONS Q-1

(-] =3 1 0
2 2 2.0 0 2 2.2 caxiX+ o —1]=[o 1}/' 1
0 2 0 2 2 32 2 o L
-1 =21 [1 0
If"‘/"’[0 _1]=h0 1].then)(isequalto_“

o A ~i3i+2) S|

imaginary part of —i(3i +2) is

1 0 e 10 et L (;;If:’f'?{u'wu/ 3
The logarithm of unity to any base is

a+b (a+b) a-b (a-b)? @f-'/- Wa+Vb) (Ja-Vb) | 4
(‘/:(yL (Va-+/b) is equalto.......
12 8 16 4 OW@M&/JK%+4x+mH__[_a§JJm 5

indmsothat X’ + 4x + mis a complete square

a* - b* a-b a?.b? - Jf.)lw'ub’a -b*ta? + b? B

LCMofa’+b2anda*-b*is

—_—

3 :
3 " 5 ;.u5~9(¢:J£—2<X<5.=l,v,_*x=_ !
2 - 3
x=___is a solution of the inequality —2 < X < )
1 I n AT I e SLOLUF (2,35 8
Point (Q -3) lies in quadrant.
(1. 1) -2.-2) (0 .0) 2.2) oo A X I B (2,2)1(-2,2)58] g
M|d ﬁant of Qe points (2 , -2) and (-2 , 2) is
Ji il i s |8 o LB I L i Fun Sorwinl a2 81| 10
. ZIf two angles of a triangle are congruent, the
Congruent Paralle! Concurrent Collinear ¥} yoc opposite them are
< RS et | 1
6 3 2 .. | £ach diagonal of a parallelogram bisect it into
congruent triangles.
5 2 3 _gt/f:;,u:ur’,ﬂ/. )f/c_ukz"-lbj 12
Bisection means to divide into __ equal parts
t'}"(}" J;;;rc S5 waribs Sl L fe Ll u}l’.'__.l;u 13
If two triangles are similar, the measures of
Congruent Concurrent Parallel Proportional |their corresponding sides are
1! = — 1 The symbol of paraliel is - =l uqn S| 14
A5 LUIGL NG & ol $sbr $r_abuig JU QaNus L st 0. 15
) ) If the three altitudes of a triangle are
Acute angled Isoscles Right angled Equilateral | congruent, then the triangle is

921 - 0918 - 43000 (1) S&p. 9-2-15
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Part - I d;' _—
Answer briefly any SIX parts from the followings:- 6x2=12 -q)}/'.-_wzf'?i 171 {;ch.ufd_‘) T 2
Define column matrix with example. - ._}t‘xu@/.a}/ﬂf.,hﬁj( (i)
7 -9 ) 7 -9
Find whether the matrix 3 5 is singular or non singular it 2L < nt 3 5 J e (i)
3485 A
Xyz - - ¥ (2 o
Simplify [W) L ) simpity 5 +(5*) _ ;5 (i)
X X 3
Find the value of x log,, 8 = 5 ) log,, 8 = 3 ﬁq/rﬂ"c.-_’ dx (v)
Iflog 2=0.3010 log 3 = 0.4771 log 5 = 0.6990 log 3=04771, log2 = 0.3010 /1 (vi)
find the value of log 30 -u_/r}".uf J log 30 7log 5 = 06990 ,
3 3
x'y-— . Xy=2z _ ;
Evaluate—nyorx=3,y=-1,z=~2 _-.{J 4 mx=3,y=-1,z=-2/l(vm
g
! l o I 1 -
It x=—=2 fing x'+—; -u/r}v;ﬁ@%—‘;x——ﬁﬁ(v""
X X " X x

Factorize 3x - 75y OC@ W-15% Ly SSE (ix)

Answer briefly any SIX parts from the followings:- sn=@;mﬂ"£w gadfc. Jii Cn 3

Find L.C.M by factorization x? - 25x + 100 . x? - x - 20 @ -E P Poben )
@32 X - 25% + 100, x? - x - 20

Solve equation and check for extraneous solution ‘/—;@ 2 J3x+4=2 ~L{/J"2 S éumu/_f‘ff.;,uu (i)

Define cartesian plane. ,g{q} i v ” Find solution set 51|3x + ZI ~-4=11 =4 (oS (iii)
Find values of m and ¢ after expressi in the form L L//,-\L"ﬁ y=mx+c/ 3x+ Y-1=0cbl- (v)
y=mx+c,3x+y-1=0 -q/r}*’g,c"-;b(cmm
Find the distance between the pair of points A(-8,1),B(6, 1) A(-8.1),B(6, 1)7{5(:"’)4(@@;&;}1& L& (vi)
Find mid point of the line segment joining pair of points JZ (L Jl_/u Kb i bfe 22l 46 (vii)
A0, 0), B(0, -5) A(0,0), B(0, -5)

0 Sm + 10) 1%
o =) ) ey
Find x° and m° in the figure. A3 -i,{rll"u:‘ftfm(’u' L (ix)

Answer briefly any SIX  parts from the followings:- §x2=12 S falz ALz iedle ity -4

Define right bisector of a line segment. -LFJ/JJJI GAL a8 (i)

Whether 3cm , 4cm and 5cm can be lengths of the =S U fxul_ﬁ!JJ L L ate s sem demdemy (i)

sides of a tnangle? Give reason. Sl

Define similar triangles. _Lf,:.g/(}'uﬁl‘/,l‘z' (iii)
P.T.O 922 - 0918 - 43000 S¢y. e 218
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ot Sl ar bl i eone A i ezl Jirzgd¥dizar L, DmMC.B.A el L vy s
. : - . . .o v S p .
;,_1"/_ 24 JrJ! _,")l u:’u.fi Qfdlf.-fﬂ 2% Bl N5 il S ;.u‘u(d_.//, /.:«5 L {_/4 :"u,."rul:zc. ..._f' -L_'Jﬂ =

" ? 3 b : - :
e LI s £y (‘.,)LL Sl 20U end &y Siemde Ll L s PAPER CODE
Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think 1s correct,
fill that circle in front of that question number. Use marker or pen 10 fill the circles. Cutting or filling two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation
Use of ink remover or white correcting fluid is not allowed.

(D) (C) (B) (A) QUESTIONS Q-1
9 6 -6 -9 i |26 _ ., thenxis equalto 1
-zl x 9 3 x| /r‘,
No any gﬁ'df Kg I"/’K cm? KJ‘{&/ m X Ratio has unit. e by Kool | 2
L AN G T B R E e e g unJFbwind Sel L 3
Scalen Right angled Equilateral lsosceles | A Triangle having two sides congruent is called __
_4 _3 . 3 251 4
5 4 5 4 . B e
> -
0 e 10 1 A A g’ | s
?@9 ithm of unity to any base is
>
(P | ¥ B
a-b (a+b) (a+ b)? (%@b isequalto __ __ &4l 6
s +b
-z "
16 8 -8 <>0 4 ,gz.g@d/Jr{+4x+m4.£;,¢/Jm 7
AQ(Y{ F;iq' 3Bt x° + 4x + m is a complete square ——
b 4a+b 4a el "‘\g a 1 8
oo T 5 3 —SE 1 N Ll + M
9a® - b’ 90’ - b’ 2_p 0g® =b? - st ——" Y94 " 3a-b
2 | simgfi .
i | | 3 -
** Y904 3a-b
% 0 3 = ,ES_JC_QK:,:JL—2<X<%.-J,V,_‘)(=-—- 9
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Answer briefly any SIX parts from the followings:- 6x2=12 _a,)_‘/(f..:.;lﬁ/‘?élzl {;.ch_u:‘j:; s 22

Define matrix.
8 \* .
Simplify (1—25] S i) P

Find the value of i’

Express in scientific notation 0.0074
Define binomial surd. -(j_/_g/?d/(’l A (S (vi)

2
Rationalize the denominator m

Factorize 3x - 243x°

Answer briefly any SIX parts from the followings:- 6x2=12 -u’/(/

Find H.C.F by factorization x> + 5x + 6 , x* - 4x - 12

Solve the equation and check for extraneous solution

J2x—=3-7=0

Define collinear points. -é.@iJLd(b(f)/l"/ (i

Find values of m and c after expressing line in the-t6#
2x-y=7

Find the distance between the pair of

A9, 2),B(7,2)

y=mx+c

Find the mid point of the line segment joining pair of points

A2, -6),B(3,-6)

If two angles of a triangle are 90° and 30° what will be the

value of 3rd angle.

SIS (i)
(8 51}, =3 (ii)
Multiply | ¢ 4 ‘21 O Y

e 0 (i)

_uz'au:(f}z,r':lzfooon (v)

Define Common logarithm. -J_/Q!/TJZB',’(& (vi)
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e f7 % b —ee  (viii)
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U 6F 3x-243% (ix)
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@ Find solution set [3x - 5| = 4 _/pter(F (i)

ulmp.'Lé_/ﬁu'uiy =mx +cf 2x ~y =72l (V)
-L[/rr’l'y(j_:(‘:(;c
A9,2),B(7,2) ZEplbgnLc 2L b6 (vi)

LB ek e i e 2L L6 (vii)
A@2,-6),B(3, - 6)
¢ sliee 2 TUn30° 41 90° LS S ugstin £ ade N (vii)
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In figure find M£1 = ymL2=

mLl= __  mf2= _g‘_.’r}-vu:f (ix)

Answer briefly any SIX parts from the followings:- 6x2=12 -q/;f;uz,‘"&tzn 7 c.ch:_ utJ.':‘ Ln -4

Cefine right bisector of a line segment.

Whether 2 cm, 4 cm and 7 cm can be lengths of the
sides of a triangle? Give reason.

Define proportion.

State converse of Pythagoras' theorem.

~ind the value of x.
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